
1. How many Chocos are shown with 5 skinnies and 2 flats? Write a
number sentence to show the total.

Number sentence: 

2. How many Chocos are shown with 12 flats, 1 pack, 4 skinnies, and
14 bits?

Show the number in base-ten shorthand using the Fewest Pieces Rule.
Write a number sentence to match.

Number sentence: 

3. A. Show 1589 in base-ten shorthand.

B. Show 1601 in base-ten shorthand.

C. Complete the number sentence 1589 1601 using <, >, or =.

D. Show or tell how you know your sentence is correct.
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4. Maruta packaged the Chocos Tom packaged the Chocos
shown below. shown below.

Did Maruta and Tom package the same number of Chocos? Show or
tell how you know.

5. Show how a base-ten hopper can start at 37 and move forward 26.
Where does it land?

E2

Place Value
Feedback Box

Compose and decompose numbers using 
ones, tens, hundreds, and thousands.
 [Q# 1–2, 3A, 3B, and 4]

Expec-
tation

Check In Comments

Show different partitions of a number 
using base-ten pieces, number lines, and 
number sentences. [Q# 1–3A, 3B and 5]

Recognize that different partitions of 
a number have the same total 
(e.g., 100 + 20 + 3 = 100 + 10 + 13).
[Q# 4]

Read and write large numbers 
(to the thousands). [Q# 1–3A, 3B]

E3

E4

E5

Compare large numbers (to the 
thousands). [Q# 3C, 3D, and 4] E6
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